FARBTE AR/ B3

F5 M w4 B BRI R
1 MEbkAT | Eakbs  [47.29/155.26) 4 i 52 55 A B AU 55 2= T A AL
2 HMEARAT | K4S 148.13/130.68| A At 5 3k b fi FH AU s 2 A AL
3 HEbkRT | TP [ 28.26/56.52 |k A o Sk b fe FE AU 7 J= T A AL
4 HEMRAT | F#4 | 48.16/80.39 | A At 5 3k dh i F AU 5 2 T AL
5 HpeT | TR | 53.1/87.76 |k v 5 Sk A B AU 55 )= T AL
6 Mgbkks | FAJE | 46.78/80.3 |4k i 5 Bk Al B A % 55 J= BT AL
7 MEbRAT | o7 [ 46.32/77.58 |k Ao 5k b fe F AU 3 J= T A AL
8 MEARAT | VML | 47.71/83.21 [ A At 5 B b f FE AU s 2 T AL
9 HbkeT | TEE [73.63/116.87) 4 i 5 5k A B AU 55 2= T AL
10 MEbkks | kg [ 64.94/64.94 | &k b 58 5L A4S B AU 55 )= BT AL
11 HEbkA, | FRAP [ 51.37/91.06 | & v 5 3 A B AU 55 = T A AL
12 HibhAt | FAzi | 50.46/86.08 | 1 o e b A F ALK J e T A5 AL
13 HEbRAS | FAIMN [ 59.45/94.17 |k At o 5k b A FE AU 7 J= T A AL
14 Mgpkks | oo [50.73/83.23 | 4k v 5 Bk A B A% 55 = BT AL
15 HEbkdT | F s [51.56/83.13 | R v o Sk A B AU 55 = T AL
16 Mebkks | Fifbs [ 56.31/87.9 |4k i 52 5k Al B A% 55 J= BT AL
17 MEbkes | FARUF | 63.14/98.5 |k i 5k b fe FH AU 3 J= T A AL
18 Hemkkt | T [ 50.68/85.19 | et 5 3 H A B AN % 5 J2 T A5 AL
19 MEbRAT | TREEE [52.89/111.81) & v 5 5 A B AU S5 2 T AL
20 Mgbkk | s T [ 43.59/93.08 |k i 5 Bk A B A% 55 J= BT AL
21 HEbkds | T [ 56.61/94.69 |k i 5 5 A B AU 55 )= T A AL
22 HEARAT | TRER | 55.64/92.92 | F it 5 B b i FH AU 5 2 A AL
23 HEbkkT | TFHCP [ 54.87/91.65 | A o Sk b fe F AU 7 J= T A AL
24 Mebkks | F2emd [ 55.2/92.12 |k i 58 B A B A% 55 J= BT AL
25 HEbkeT | 3% [44.91/44.25 | R i 2 58 A B AU 55 )= T AL
26 Mgbkks | Tl [ 44.93/44.93 | & i 52 5L i Ad B AU 55 J= BT AL
27 HEbkAT | x5 [ 39.86/39.86 |k At o Sk b fe FH A% 5 J= T A AL
28 HEARAT | TAEE  181.86/142.51| A At 5 3k b if FE AU s 2 T AL
29 HpeT | Fwfd [41.01/71.48 | & e S A B AU 55 2= T AL
30 MEARAT | TR | 33.26/60.64 | A At 5 ik dh i A AU 5 2 T AL
31 Hibkks | ForiE [ 39.74/70.36 |k e 52 L Al B A % 2 J2= T A AL
32 MEARAT | e | 40.62/71.93 | At 5 5 b i A AU s 2 BT AL
33 MEbkkT | FFoE [ 45.29/80.25 | A o 5k i fe F AU 7 J= T A AL
34 bk | FEM [47.24/81.12 | & i & 5 Ad B AU 55 )= BT AL
35 HEbkeT | TRERE [ 40.66/71.36 | & i 5 5k A B AU 55 )= T AL
36 Mgbkks | FWEAH [ 39.51/69.83 | 4k i) i Bk A B AN % 55 J= BT AL
37 MEbkks | TAfEE [ 37.88/67.02 |k A o 3k b fe FH AU 3 J= T A AL
38 MEARAT | Tkt | 38.54/68.69 | A At 5 3k b i FH AU s 2 A AL
39 bkt | Tz | 37.4/66.59 | gk v 5 3 H A B AN % 5 J2= BT A AL
40 Mgbkks | Foems [43.23/77.62 | 4k b 8 B Ad B AU 55 J= BT AL
41 MEbkds | skiban | 44.6/73.96 |k i 5 Sk A B AU 55 = T AL
42 MEARAT | FEAbk | 40.83/69.9 |AAt 5k b i F AU 5 2 BT AL
43 HEbkkT | TFHN] [ 37.33/66.94 |k A5 5k i fd F AU 5 )= T A AL
44 Mebkks | Fsk [40.48/72.19 |4k i 58 B A B AU 55 J= BT AL
45 HEbkRT | T JfE [ 36.65/62.67 | & i 5 Sk A B AU 55 )= T AL
46 bk | FVEPR [ 38.23/69.43 |k i) i Bk M Al B A% 55 J= BT AL
47 MEbkeT | TFKE [ 37.78/68.38 |k i o Sk b fe FH AU 7 J= T A AL
48 bkt | T [ 39.19/39.19 | etk 5 5 b A B AN % 5 J2 T A5 AL
49 HEbkeT | FHRST [ 33.75/33.75 | R A e Sk A B AU 55 = T AL
50 MEMRAT | Fand | 74.3/74.3  |AAt a5 s A AU 5 2 T AL
51 MEbkAT | FPERR [ 62.6/94.01 | v 5 5 A B AU 55 =2 T A AL
52 HEARAT | TR 163.17/100.77| 4 At 5 3 b i A AU s 2 i AL
53 HEbRAT | skEESC [ 62.08/62.08 |k A o 5k b fe F AU 3 J= T A AL
54 Mgbkks | XIHE [ 56.77/56.77 | 4k i) 58 FE A B A% 55 = BT AL
55 MEpkAT | FfEEE | 53.36/80.94 |t 5 3k b i FH AU s 2 BT A AL
56 HMEARAT | i | 49.88/79.26 | A it 5 ik dh i FH AU 5 2 A AL
57 e, | FeW [42.19/71.87 | &5 5 M fd F AU 3 )= T A AL




58 Hebkks | T 40w [ 58.98/90.55 |k v 5 Sk M A B AU 55 J= T 5 AL
59 bk | FAU% [48.24/81.92 |k i) 52 B i Ad B A% 55 J= BT AL
60 Wbkt | Tz [78.49/110.42] g o 5 5 H A B AN % 5 J2= BT A AL
61 HEMRAT | FiiA5 | 60.58/95.08 | At 5 ik b i FH AU s 2 BT AL
62 HEpkeT | TRESE [ 19.85/33.37 | & v e Sk M A B AU 55 = T A AL
63 MEARAT | FREA: | 74.83/121.8 | A A 5 b b fef FE AU 55 2 T AL
64 HEbkAT | R [ 55.3/172.42 |k v 5 3 A B AU 55 = T A AL
65 MEARAT | T | 59.84/86.17 | At 5 5 b i F AU 5 2 BT AL
66 MEAkAT | T | 34.75/60.51 | e vk 52 3 Hh A FH A % 52 J2 T A AL
67 Mgbkks | ) [ 34.54/60.07 | 4k i) 52 5 A B A% 55 = BT AL
68 MR, | kA [94.57/269.09) 4 v 5 5k A B AU 55 = T AL
69 bk | EWEH] [65.75/116.52) 4k i) 5 5k A B AN % 55 = BT A AL
70 MEbkds | T HN [ 58.28/88.05 | 4k v 5 Sk M A B AU 55 = T AL
71 MEARAT | FEUR | 32.81/32.81 [ At o Bk b i FH AU s 2 A AL
72 bR, | BRIk [ 63.71/63.71 | R A e Sk A B AU 55 = T AL
73 MEARAT | F AR | 57.36/86.17 | A it 5 5k dh i F AU 5 2 T AL
74 MEbkeS | FEPE [75.95/157 .17 4k v 52 5 A B AU 55 2= T A AL
75 HEMRAT | FHE  167.85/110.35( 4 At 5 5k b f FH AU 5 2 I AL
76 MEbRAT | AN [45.88/98.78 |k At o Sk b fek FH AU 7 J= T A AL
77 Mebkks | FRsgE [ 37.98/37.98 | 4k i i Bk A B A% 55 = BT AL
78 HEARAT | 3K/ADEE | 56.19/101.3 [ AR A 52 ik b ki A BUR 55 B BT AL
79 Mgbkks | FAm | 43.33/74.1 | R b 5L g B AU 55 J= BT AL
80 HEbkes | T [ 45.19/45.19 | & i 58 5 A B AU 55 = T AL
81 HMEARAT | TRESE 153.89/169.41| A At 5 3k b f FH A% s 2 T A AL
82 bkt | Ty [ 57.66/57.66 | gk vk 5 e H A B AN % 5 SR BT A AL
83 HEMRAT | F#54 | 51.28/51.28 | f i) 5 5k b i A AU 5 2 T AL
84 MEbkeS | F S [47.46/47.46 | R i 58 S A B AU 55 = T A AL
85 HEpkks | FApfE [ 37.02/37.02 | 4k i 5 i A B AU 55 = T A AL
86 MEbRAT | TR [ 52.98/59.61 |k A o Sk b fe FH AU 3 J= T A AL
87 Mgbkks | FoARUF [ 33.79/33.79 | Ak i i Bk A B A% 55 = BT AL
88 HEbkes | x5 [41.11/82.22 | &k v 5 Sk A B AU 55 2= T A AL
89 Mbkks | TR [67.55/150.94) 4k ) 52 5 A B AN % 55 J= BT AL
90 HEbkeT | T [62.97/118.76) 4 4 58 55 A B AU 55 2= T AL
91 HEMRAT | TJHZE 167.59/167.01| A At 5 3k b f FE AU s 2 T AL
92 Wbkt | TFFHar [ 56.04/56.04 | gk vk 5 5 1A B A% 55 J2= BT A AL
93 Mebkks | FHBAR [ 46.97/46.97 | & b 58 5L i Ad B AU 55 J= BT AL
94 MEARAT | FRE ]21.01/21.01 [ AT 5 s A BUR 55 & BT AL
95 MEARAT | FEsR | 37.52/36.76 | A At o ik b i A AU s 2 A AL
96 HEbkkT | TP [29.58/29.58 |k A o Sk b fe FH AU 3 J= T A AL
97 Mgbkks | Fsk [ 37.02/37.02 | 4k i) 52 Bk A B A% 55 = BT AL
98 HEpkes | TR [ 40.54/40.54 | & i 5 5k M A B AU 55 = T AL
99 Mgbkks | F-Fop [ 35.69/35.69 |4k i) 5 Bk A B A% 55 J= BT AL
100 Mebkks | Tl | 34.7/34.7 R i S R fd F AU 5 )= T A AL
101 HEARAT | bk 144.63/156.83| A At 5 ik b f FE AU s 2 A AL
102 HpkeT | et | 34.9/99.47 | o Sk A B AU 55 = T AL
103 HEARAT | FRIME  164.99/175.06| 4 A 5 3k Hh i A AU 5 2 T AL
104 bkt | Tl [ 22.83/87.99 |k v 5 5 A B AU 55 = T A AL
105 MEMRT | EEmE | 23.08/56 | et i b A P A% 5 2 A AL
106 MEbkAT | TRl [33.27/105.01 kA o 55 b fek FH AU 3 J= T A AL
107 bk | b5 [62.73/117.78) 4k i) 58 B A B A% 55 = BT AL
108 MEARAT | FHEME | 50.14/206.5 | et 5 3 b ol FH AU 5 2 BT A AL
109 Mgbkks | FA40% [ 30.19/98.33 |k i) i Bk A B A % 55 J= BT AL
110 Wbkt | T [ 36.74/78.07 | gk ok 5 5 H A B A 5 J2= BT A AL
111 Mk, | T84 [44.11/131.42) & b 5o 56 A B AR 55 )= T A AL
112 bR, | T [52.79/92.35 | & A 5 Sk A B AU 55 = T AL
113 MEARAT | ok | 49.4/78.19 At 5 3k dh i A AU 5 2 T AL
114 MEbkAT | F ek [ 50.11/77.84 |k v 52 5 A B AU 55 = T A AL
115 MEARAT | TROME | 34.2/64.37 At 55 b i A AU Bs 2 AT AL
116 bk, | F2emd [ 25.31/46.79 |k At o8 5 M fe FE AU 3 )= T A AL




117 MR | F5¥E | 32.3/59.42 |4 AT ae b i A AUR 55 B BT AL
118 HMEARAT | AR | 33.12/58.39 | A vt 5 ik b faf FE A% 55 2 T AL
119 MEMRAT | T4 | 39.5/66.83 |4 AT 5k hf A UK 55 & BT AL
120 MEMRRT | FEWNS | 25.6/48.21 |44 a3 Al FBUR 55 2 BT AL
121 MEARAT | F#5 | 19.67/19.67 |4 Ad 52 ik h ki A BUR 55 2 BT AL
122 HMEARAT | FEON | 41.7/41.7  [RAT e A AU 5 2 T AL
123 MibhAT | FPIT | 43.52/43.52 | e b e B ALK 2 & T A AL
124 MEARAT | FVOME | 29.5/29.5 | At 5 B b i A AU s 2 BT AL
125 MR | FoARE | 31.76/31.76 [ A 3 i A AR 55 2 BT AL
126 HEARAT | TN %S | 24.96/24.96 | A A 5 5k Hh i Al AU 5 2 T AL
127 MEARAT | FfEy | 37.52/79.2 |4 AT as b A FAUR 55 B BT AL
128 MEARAT | FIErR | 70.18/70.18 | f st 5 5k dh i FE AU 5 2 T AL
129 Wbkt | T [ 40.46/40.46 | gk b 5 3 1A B AN % 5 J2= BT A AL
130 MERRRL | Farp [76.66/122.09) 44T 55 i b A AU b5 J2 T AL
131 MR | T 197.16/242.42| Fk A 52 38 i FBUR 55 2 BT AL
132 HEARAT | T8 e 148.43/140.16| 4 A 5 ik b i FE AU s 2 T AL
133 MEARAT | FRAIE |74.25/173.85 4 A 52 3k h ki FH AU 55 & BT AL
134 MEMRAT | FREF | 33.69/33.69 | Ak At 5z 3k Al Al BUR 5 2 BT A AL
135 HEMRAT | s 140.46/107.85[ 4 i 52 3k Hh i A AU 5 2 BT AL
136 MEARAT | TR | 29.13/29.13 | A At 5 i b A AU 55 2 T AL
137 MEARAT | F AR | 48.79/66.9 |4k AT 5k f F AU 5 & BT AL
138 bkl | TiaE [ 16.26/16.26 | g tvf 5 3 1A B A % 55 J2 T 45 AL
139 HEARAT | FiEiE | 94.68/97.54 | A A 5o ik h i A AU 55 & BT AL
140 MEMRRL | Fuk [ 32.06/38.77 | A bt 55 ik M A AU s J= T A AL
141 MEARAT | e | 19.19/19.19 [ A AT 52 3 Hh i A UK 55 2 BT AL
142 MEARAT | FauR | 87.52/87.52 | f it 5 3k b f A AU s 2 T AL
143 MEMRAT | F 754 | 45.55/45.55 | Ak At 5o 3k Hh i FH AU 5 & BT AL
144 MEMRAT | FAziE | 29.73/29.73 | A AT 5z 3 Al FBUR 55 2 BITA AL
145 HEARAT | FaARH | 30.08/30.08 |4 4 55 3k b fef A AN % 55 2 i A AL
146 MEARAT | TR | 31.97/31.97 | A At 5 5 b f Al AU 55 2 T AL
147 HEARAT | FARbk | 27.43/27 .43 | R A 58 3k F AU 5 & BT AL
148 MEARAT | TR | 34.01/34.01 [ At 5 Bk dh o A AU 5 2 A AL
149 MEARAT | 2RI | 38.86/38.86 | At o ik b i FE A J% 2 2 i A AL
150 MERRRL | F R | 37.49/37.49 | AT 58 M A AU s J2 T AL
151 MR | 0% | 30.65/30.65 | Ak At 5z ik b ki A AU 55 2 BT AL
152 HEARAT | 5K/DAN 138.25/118.42| e At 5 ik b fef FE AU o5 2 T A AL
153 MEARAT | akEEC 137.09/118.27| Ak A 5 ik b Ak FH UK 55 & BT AL
154 MEARAT | FECF |38.54/130.46| 4 A 5 3 Hh Al FlBUR 55 2 BITA AL
155 HEARAT | Pk |38.49/151.38| 4k i a5 3k b ff A AU 55 2 BT A AL
156 HEARAT | k48 | 51.51/51.51 [ A it 5 ik b faf FE AU 55 28 T AL
157 HEARAT | FEXS | 48.34/48.34 | A 52 3k Ak FE AU 55 & BT AL
158 MEMRRL | EwIPH [ 36.77/36.77 | A< hT 55 3 M A AU b5 J2 T AL
159 MEARAT | FRESE | 16.17/16.17 [ A 5 3 f A AUR b5 2 BT AL
160 bkt | FHar [ 19.79/19.79 | gtk 5 5 H A B A % 55 J2 T A5 AL
161 MR | FIRSE | 18.41/18.41 [ AT 5 3 Hh ki Al BUR 55 2 BT AL
162 MEARAT | FWHEE | 15.77/18.77 | Fe i) 5 3 b ff FE AU 55 2 T AL
163 HEARAT | E S | 64.79/64.79 | AT 52 3 Hh s FBUR 5 & BT AL
164 HEPRRL | & | 62.65/62.65 | 4 AT 55 i A AU b5 J2 T AL
165 MR | FKEd |20.73/20.73 [ 4 55 38 s A AU 55 2 BT AL
166 MEARAT | Fifgbr | 37.05/37.05 | A At 5 ik b fef FE AU 55 2 T AL
167 MEARAT | FHCE | 24.4/24.4 RT3 A AUR 55 B BT AL
168 MEARAT | FREH | 51.69/51.69 | At 5 3k dh i A AU 5 2 BT AL
169 HEARAT | FEAR | 39.53/76.29 | A At 52 3k h i A UK 55 & BT AL
170 MEMRRL | FHCE | 43.65/94.09 | A hT 58 i b A AU b5 J= T A AL
171 MEMRAT | F2etf | 38.88/77.76 | A A 5o ik h ki FH AU 55 2 BT AL
172 MEARAT | FJE 143.84/147 | A At 5 3 b fef FE AU 5 2 T AL
173 MEMRAT | F R | 33.46/60.27 | A 52 ik h i FH AU 5 & BT AL
174 HEARAT | SO | 91.17/91.17 [ Fe it 5 B b f FE AU 55 2 I AL




